
Deutsche van Rietschoten & Houwens GmbH · Junkersstraße 12 · 30179 Hannover · www.elephantbrakes.com

Elephant Brakes by Rietschoten Germany. Strong like an elephant. Smart like an elephant.

Subject to change without notice.

Part-No.: 00000

Page 1 / 2

26
.0

9.
20

19
 / 

N
W

 - 
VJ

Brake Caliper Type

actuated Page 1 / 2

Part-No.: see belowBrake Type EBS 002

spring-applied, hydraulically released

2D-drawing and dimensions see pg. 2

Braking torque TBr [kNm] = Braking force [kN] x eff. disc radius [m]
eff. disc radius = (0,5 x brake disc o/d [m]) - 0,078 m

Type Part-No.
Braking 

force 
[kN]

Loss of force per 1 
mm stroke

[%]

pmin. 
[bar]

pmax. 
[bar]

EBS 002 – 50 60096-50 50 7,4 135 180
EBS 002 – 48 60096-48 48 8 126 171
EBS 002 – 45 60096-45 45 9 118 163
EBS 002 – 41 60096-41 41 10 109 154
EBS 002 – 37 60096-37 37 9,5 101 146
EBS 002 – 35 60096-35 35 11,2 96 141
EBS 002 – 32 60096-32 32 13,5 91 136

Oil demand at 1 mm air gap per side: 14 cm³ 
Brake suitable for mounting on brake discs according to DIN 15432 Dmin. Ø ≥ 500 mm
Mass: 38 kg per caliper half (total mass: 76 kg)

All information based on 1 mm air gap per side, coefficient of friction μ = 0.34



Deutsche van Rietschoten & Houwens GmbH · Junkersstraße 12 · 30179 Hannover · www.elephantbrakes.com

Elephant Brakes by Rietschoten Germany. Strong like an elephant. Smart like an elephant.

Subject to change without notice.

Page 2 / 2

81

21
4

Schraube ISO 4017 M12 x XXX - 8.8
Scheiben ISO 7090 - 12 - 200 HV
Mutter ISO 4033 - M12 - 9

Schraube ISO 4017 M20 x XXX - 8.8
Scheiben ISO 7090 - 20 - 200 HV
Mutter ISO 4033 - M20 - 9

15
3

2

78

B m
in
 =

 2
0

Raum für 
Belagwechsel

26

14
1

3xØ13,5

4xØ22

95

246

55 (15)

23
2

B+
10

Entlüftung G 1/4

2x Leckölanschluss G1/8

optional:
2x Überwachung M18 x 1,5

Ölanschluss G 3/8

3x Leckölanschluss G1/8

85

96 14
4

48

17
0

Dmin ≥ Ø500

Part-No.: see pg. 1Brake Type EBS 002

spring-applied, hydraulically released

Fixing screws and nuts are not scope of supply.
Min. quality of fixing materials: 8.8

3x drain line G 1/8

screw ISO 4017 M12 x XXX - 8.8
washer ISO 7090 - 12 - 200 HV
nut ISO 4033 - M12 - 9

screw ISO 4017 M20 x XXX - 8.8
washer ISO 7090 - 20 - 200 HV
nut ISO 4033 - M20 - 9

space for brake 
pad replacement

bleeding G1/4

2 x drain line G 1/8

oil connection G3/8

optional: 
2 x monitoring unit M18 x 1,5


